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Mgtar = 1.0 £0.2 x 102 At M, (3.4)
Mgas = 5.4+ 1 x 102 A75/2 M, (3.5)
Miotal = (5.7 — 11) x 10 ™' M, (3.6)

gbooboobooobooboobobobooboboobo

Mar on —
[ 220" 0009 + 0.05 b~ 3/2 (3.7)
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0000000000000000000000000000O0DD 100000000000000
0000 Mbaryon 0 Msgar 0 Mgas 000000Mo 000000000000 O0O00D0OODODO
00000000000D0000000000000DODOOODODOD0D0O000000000000
0000000000000000000000 Mitw 0000000000000 00000O0
0oooooo 10 -10°M, 00000000000000O00O00OD0

0 34000000000000000000O0OCOOOOODODODOODD :000000000
00000000000000000000D00000000D0000D0000000000000
000000 (ROSAT)00000XOODODDOODOO0O0O00 120000000000 X0000O
000000000000000000000000000000000000000000000
00000000000D000000000000D0DDOOOD0OD0D00O00000000000A0
00000000000D0D00000000000D0DDOOOOD0D0OD0O00000000000A0
000000000000 D0DD0OD0O0D000 3.1.50000000000000000000000
00000BBNOOOOOOOOOOODODODOOOOOOODOOODOODOOOOOOO 340



12 o30booooonog

4 ASCA/ROSAT
3

= ,,_.'-.nﬂw ﬁm‘ % :
= T
g o * 3
= E
:'I- ; r.3
g 1

- "1

[ IS i} 1 1 '} 1 A 1 'y

=

bt 2

14z

034 X0000000000000000ISASO000000000 4Uooooo

0000 BBNOOOOOOOOOODOOODOOO0O0OOOOO0N,0000000000
02<9Q,, <04 (3.8)

good

3.14 TIaODODOO

ooooooooooooooooooo0ooooooooobobobobobooboOo 240000000
oo0o00ooO0O000 HOODOOoOOoDODOoOOoOooOoOOOooooDOoOoooDoD 24000 20000
gooobooboooobooboboooobbu z0000b00obOobobOobDoobDobObOOoDbOoob
gboboobobooboobooooooboooobobobobDobooDobooDobOobDon
gbobooooooooobobooobobooooobooooboboobooboooon

0000000000000 00000 0000000000 (0 3.500)0la000000O0O
gobooobboooooooboooboboooooboooooooooobobobooooooboboooo
gooooooooooobbbbblnoboobooooooogoooboboboooooooo
gobooboboooooobooobbobooboboooboooooooboooobooooooooon
goboobbooobooboboboooboobobooobooooboooboobobooobooDbo
gooooooboooooogooboobooo-ooobooboboboobobboooobobobooooo
oood

gooooooooooooQ,0QubOob0000000o0oooooooooboDoDoOooon
gooooooooooboboogobooboooogoboo
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Knop et.al. (2003 R
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p+v. = n+el (3.10)
pt+te +7. & n
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n 1
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n+p =2 D+~ (3.13)
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gbooooobooooboobooogooboon

D+p = *He + v
D+n =2 *H+ vy
‘He + v (3.14)
D+D = *H+p
4He + n
O0O00O0O0O0O0OBHD *HeOD DOOOOOODOOOOOO
SH+D
=2 “He+ 3.15
He 4D } = o (3.15)
SH+D = “*He+n (3.16)
SHe+D = *He+p (3.17)

0000000000 ‘HeDOOOODOOOLIOBeOBOOODODOODOODOOOOODOODOO
0000000000000000000000 ‘HeDOO0OO0O0OD0O0DOO0D0O0O0OOODOOOOO
000000000000000000000000000 ‘“HeDOOOOOO0ODOO0DOO0OOOO
000000000000 0000000 “HeODODODODODODO-0000 na/n, ~1/70000
0000000 ‘HeOODOOO
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CpO0O000 +n0000  npmp+nama  1+n,/n,

~0.25 (3.18)
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Ly = XY y5x X (du WY, Ysu + da Jy,ﬁsd + d, §7,ﬁ53) (5.16)
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fp(n)

Zfﬁ—+— - > g Zf (5.28)

g=u,d,s q=u,d,s Q=c,b,t

goboooooobooobobooboooboooobooobooobooobooboooooobobooon
gbhobooboboboboboobooboooboobooboobooboooobooooooooboooon
00000000000000000000000000000000 F()ODOODODDODO0Ooo00oOo
ooo

F(Q) = exp(—Q/Qo) (5.29)
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